JL_

Addizione (orizzontale)

Nome:

Risolvi ogni problema.

1) 8+2=

2) 713+ 168 =

3 12+2=

4) 34+2=

5 76+22=

6) 51+48=

N 3+2=

8 9+9=

9 781+186=

10) 19+1=

11) 44+32=

12) 53+24=

13) 81+1=

14) 45+5=

15) 32+17=

10.

11

12.

13.

14.

15.

Risposte
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Addizione (orizzontale) Nome: Soluzioni
Risolvi ogni problema. Risposte
1) -
8+2 10 . 10
2) 713+168= 881 2 881
3 14
3 12+2= 14
4. S
4) _
3+2 5 . 08
5 76+22= o8 6. 99
7. S
6) 51+48= 99
8. 18
7 —
) 3+2 5 . 967
8 9+9= 18 10. 20
11, 76
9) 781+ 186 = 967
12 77
10 —
) 19+1 20 . 8
11) 244+ 32= 76 14, o0
15. 49
12) 53+24= 77
13) 81+1= 82
14) 45+5= 50
15) 32+17= 49
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Addizione (orizzontale)

Nome:

Risolvi ogni problema.

Risposte

{

5
10

14 20
18 99

881

967
98 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

8+2=

713 + 168 =

12+ 2=

3+2=

76+ 22 =

51 +48=

3+2=

9+9=

781 + 186 =

19+1=

10.

[M atematica] W,

Semplificato
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